= o
A & 0l & AF 2 E A A
20169 = S0l& LB H SX ALY
A SXAS I
Mo poi=x 57
el TP QM EONE KR (B9 ®R)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
S XA Dt 168,235,790 152,344,838 15,890,952
= 103,354,473
J| 280,006
Al 52,452,600
T Hl 12,148,711
Lok & 86,409,081 71,064,760 15,344,321
= 57,251,709
Al 21,335,313
T Hl 7,822,059
Mot eotd XI& 78,922,385 64,412,717 14,509,668
=2 54,749,984
Al 17,231,556
-l 6,940,845
x=3a Xa 77,120,506 62,380,580 14,739,926
= 53,984,355
Al 16,195,306
Tl 6,940,845
301 et a3z 77,120,506 62,380,580 14,739,926
= 53,984,355
Al 16,195,306
I 6,940,845
01 MI28E+06l= 77,120,506 62,380,580 14,739,926
OJI=H3 77,120,506,000& 77,120,506
= 53,984,355
AlHI 16,195,306
T Hl 6,940,845
F2AE Rag4 247,958 242,070 5,888
AlHI 247,958
307 glz2tol & 247,958 242,070 5,888
AlHI 247,958
05 RIZHRI & 3 247,958 242,070 5,888
OZzAY f224 247,958,000& 247,958
Al 247,958
MAS MOt ALAEHE 200,562 195,340 5,222
AlHI 200,562
307 glz2+0l & 200,562 195,340 5,222
AlHI 200,562
05 RIZt2IE = 200,562 195,340 5,222
OMAS THItEQl AAtHE 200,562,000 200,562
AlHI 200,562
2o & L OINCKIZ 252,900 251,375 1,525
Al 252,900
301 LA Z 252,900 251,375 1,525
Al 252,900
01 Ml28E+06l= 252,900 251,375 1,525
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2N
X ZH -
L= B

el

SA - BB B () - MM - BES Ol &t o San HmEET
OSoE LolMtH XA 252,900, 000& 252,900
Al HI 252,900
Lo EE MHIA 1,076,992 1,295,559 AN 218,567
= 753,895
AlHI 323,097
307 glz2tol & 1,076,992 1,295,559 A 218,567
= 753,895
AlHI 323,097
05 22t E = 1,076,992 1,295,559 A 218,567
OkosEs MHIA(JI2AMEIA) 447,490,000 447,490
= 313,243
AlHI 134,247
OLolsE MHIA(SE#AMUIA) 604,806,000 604,806
= 423,365
AlHI 181,441
OLQoEs MHIA(EIIILALAREIA)
24,696,000 24,696
= 17,287
Al HI 7,409
SEHLO ES¢d S201AHY 23,467 47,793 A 24,326
= 11,734
AlHI 11,733
307 glz2tol & 23,467 47,793 N 24,326
= 11,734
AlHI 11,733
05 RIZteIE = 23,467 47,793 A24,326
OSHLo SSUHNSB0IAL(XNGHEYH 29)
23,467,000 23,467
= 11,734
Al HI 11,733
Lol ootgs & &I M 4,434,286 4,366,536 67,750
= 1,723,629
AlHI 2,371,543
T Hl 339,114
Colws 2EXA 27,000 27,000 0
AlHI 27,000
307 glz2tol & 27,000 27,000 0
AlHI 27,000
11T M SXAISE EX 27,000 27,000 0
Okolna 29 XA 27,000,000& 27,000
Al 27,000
ColaRte 3,281,900 3,281,900 0
= 1,640,950
Al HI 1,640,950
307 21201 A 3,281,900 3,281,900 0
= 1,640,950
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EX: XA I}
M Lol=x =X
e Lo ootEsE € NEJ|8 M2 (2 &HH)
SN EHD B (3H) - MEAY - BAS Ol &F 04 ﬁlgﬁ HDZ2
Al'HI 1,640,950
05 QIZtR E 2 3,281,900 3,281,900 0
OO0l xel AP A& 3,281,900,000& 3,281,900
= 1,640,950
Al HI 1,640,950
ALIEE 29 240,200 229,360 10,840
Al HI 205,700
24| 34,500
307 QI2t0| & 240,200 229,360 10,840
Al HI 205,700
24| 34,500
05 QIZtREZ 240,200 229,360 10,840
OAMUEE 29 240,200,000 240,200
Al HI 205,700
24l 34,500
dZ & dutetyl & 273,000 270,400 2,600
= 68,251
Al HI 163,800
I 40,949
301 Lt A= 273,000 270,400 2,600
= 68,251
Al HI 163,800
T 40,949
01 AR E & A 462 273,000 270,400 2,600
OZ2Y SHI SBULY X
246,750,000 246,750
= 61,688
Al HI 148,050
I 37,012
OZ=2E ot&)| Wetd| X& 26,250,000 26,250
= 6,563
Al HI 15,750
T4l 3,937
Y2g Y3 XY 57,710 49,562 8,148
= 14,428
Al HI 34,626
24 8,656
301 YerE A 57,710 49,562 8,148
= 14,428
Al HI 34,626
24| 8,656
01 Al B & X 462 57,710 49,562 8,148
oZzd ¥=2 & 57,710,000 57,710
= 14,428
Al HI 34,626
T 8,656
J2g 29 436,962 421,350 15,612
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A SXAS I
¥ Lol=x B
S Lo WotEs ¥ 1nEJE M3 (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
Al'H] 262,177
L Hl 174,785
307 glz2tol & 436,962 421,350 15,612
AlHI 262,177
T Hl 174,785
10 ALl SXAIEEE 2 H EX 436,962 421,350 15,612
OoZzg 23 XA 436,962,000 436,962
Al 262,177
4l 174,785
F=HE F2E A2 8,750 8,450 300
Al 4,375
I 4,375
301 et A=z 8,750 8,450 300
AlHI 4,375
I 4,375
01 AR 2Z A5l 3 8,750 8,450 300
OFHE 32E A2 8,750,000& 8,750
AlHI 4,375
T Hl 4,375
Z2E=s|Z2 08 22|k X 25,830 25,830 0
Al 12,915
- Hl 12,915
307 gl2tol & 25,830 25,830 0
Al 12,915
- Hl 12,915
11T M SXAISE EX 25,830 25,830 0
OZdzg=slZz2 0 &2/ Xl
25,830,000 25,830
AlHI 12,915
T Hl 12,915
Z2Y 2435 A Y 20,000 20,000 0
Al 20,000
307 2201 A 20,000 20,000 0
Al 20,000
11T A S XA E = 20,000 20,000 0
OZ2% g4ds XA 20,000,000& 20,000
AlH 20,000
22 el 45,550 15,300 30,250
201 24| 1,800 1,800 0
02 =224l 1,800 1,800 0
OZ2Y SZMNERES 150,000& »23] 300
OQHY 2= ¥ PCE=S 1,500,000 1,500
301 gEtE 4= 8,750 8,500 250
01 Ml2ZE 6= 8,750 8,500 250
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EX: XA I}
¥ Lol=x B
e Lo ootEsE € NEJ|8 M2 (2 &HH)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@i HRE2
Oy g3z 92 50,000 *175JH A~ 8,750
401 A& H|IZ 2 0HY| 30,000 0 30,000
01 Al& B 30,000 0 30,000
oZdzdY 2= 30,000,000 30,000
405 XHA&HF S HI 5,000 5,000 0]
01 AL 2 FF S| 5,000 5,000 0
O3z 23 5,000,000& 5,000
Lol A MU A XS 17,384 17,384 0
203 &R F & 3,800 3,800 0
03 AIZH =& 2 F X H| 3,800 3,800 0
ooy g8 800,000& 800
OMBI-S0IY SAMH2HE H2FX
800,000& 800
OMIISXAIE SAX 223 1,200,000 1,200
O=EXANEA 24 1,000, 000& 1,000
301 et A= 13,584 13,584 0
01 Al B & A 462 12,000 12,000 0
OMAS LN HAEEBE S
1,000,000 x12& 12,000
0B AISIE22ILZ A= 1,584 1,584 0
OLolg: HyE X 1,584
- ZAH| 6,000 x1H*x22 x 128 1,584
CoABAL 2Y 1,993,370 1,543,227 450,143
= 778,096
Al HI 1,215,274
LOIUZAIE 29 448,367 0 448,367
= 313,855
Al HI 134,512
307 2iz2tol & 448,367 0 448,367
= 313,855
Al HI 134,512
10 MM SAANEEHESIGHEX 448 367 0 448 367
OUxZANE &9 448,367,000 448 367
= 313,855
Al Hl 134,512
LOQAALE 2H 143,600 97,000 46,600
Al HI 143,600
307 QI2t0| ™ 143,600 97,000 46,600
Al HI 143,600
10 MM SAANEEHESIGHEX 143,600 97,000 46,600
OLo=XNAIE SMI SXN=E
143,600,000 143,600
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A SXAS I
M Lol=x =X
Sl LolAAL 29 CERED
SA - FE - BI(EA) - NRAY - By 0l &t San DS
| AlH 143,600
CAEMHASH XA 515,823 504,227 11,596
= 464,241
Al 51,682
301 gtE L= 515,823 504,227 11,596
= 464,241
Al 51,682
01 MI2EZE 6= 515,823 504,227 11,596
OLQ=TAIL LA MH20d
515,823,000 515,823
- 464,241
Al 51,582
LORAANE SSAN BE=S K& 431,900 550,000 A 118,100
AlHI 431,900
301 et A3z 431,900 550,000 A 118,100
AlHI 431,900
01 Mel28HE 6= 431,900 550,000 A 118,100
OLFIIQUYLE SSAX 23
431,900,000& 431,900
AlHI 431,900
MOt =XAIE 298 X2 453,680 392,000 61,680
AlHI 453,680
307 glztol & 453,680 392,000 61,680
Al 453,680
10 A SXNAEHE2EHIEX 453,680 392,000 61,680
OMI=QA=RAE (4HL) 2 X2
334,680,000 334,680
AlHI 334,680
Okol=02tE2sdy 29 X& 119,000,000& 119,000
Al 119,000
Lo=sX elxe &5 1,059,040 742,280 316,760
Al 516,940
T Hl 542,100
Lo 2 495,480 476,220 19,260
Al 353,280
T Hl 142,200
307 21201 & 495,480 476,220 19,260
Al 353,280
T Hl 142,200
05 B2t & = 495,480 476,220 19,260
okeol=xza 249 495,480,000 495,480
Al 353,280
I 142,200
AEMBH-AENZ 29 230,560 220,560 10,000
AlH 163,660
L Hl 66,900
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2AMd: SXALS
¥ Lol=x B
ool Lol=N QT &E CERED
= - — SHE]|
SN HH-S(BN) - MBAY - B Ol &k o8 il HlnE2
307 glz2tol & 230,560 220,560 10,000
AlHI 163,660
T Hl 66,900
05 RIZHRI & 3 230,560 220,560 10,000
OMEAMdHA=R2 2 230,560, 000& 230,560
Al Hl 163,660
I 66,900
LolsRa AF 300,000 0 300,000
401 Al Bl 28I 300,000 0 300,000
01 A& HI 300,000 0 300,000
Oo&Fgdii-o=sxa A4 300,000,000 300,000
Lo=sNEN g3 XA 33,000 33,000 0
307 21201 A 33,000 33,000 0
02 LAFAAFEX 10,000 23,000 213,000
oke=xsd g5 XA 10,000, 000& 10,000
03 I EH2EHIEX 23,000 10,000 13,000
Olfstcolsl 244 XA 23,000,000& 23,000
HAAHNES X 17,789,114 16,254,346 1,534,768
= 10,472,140
AlHI 7,264,185
2 Hl 52,789
Zoer=x &8 15,844,870 14,335,926 1,508,944
= 10,407,140
AlHI 5,385,421
- HI 52,309
=2 XA 997,020 690,800 306,220
= 697,914
AlHI 299,106
301 LEtE A= 997,020 690,800 306,220
= 697,914
AlHI 299,106
01 MEIBZE 05z 997,020 690,800 306,220
O&M=¢ 997,020,000 997,020
= 697,914
AlHI 299,106
o+ X2 (XHa) 583,835 582,300 1,535
= 408,685
Al HI 175,150
301 L2 A3 583,835 582,300 1,535
= 408,685
AlHl 175,150
01 Al EE X =56l = 583,835 582,300 1,535
QXM= (X&) 583,835,000 583,835
= 408,685
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EX: XA I}
HE: HUKS K
Sl HUA=X BA (B9 ®R)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
| Al'HI 175,150
ZOHC MHEsE X3 410,000 410,000 0
Al HI 410,000
301 LBt A= 410,000 410,000 0
Al HI 410,000
01 Al E & A 452 410,000 410,000 0
OO a2 410,000,000 410,000
Al HI 410,000
Zofel o=Hl K& 238,100 195,000 43,100
= 190,480
Al HI 47,620
301 et A= 238,100 195,000 43,100
= 190,480
Al HI 47,620
01 Al E & A 462 238,100 195,000 43,100
OZ0ofel o 2dl N 238,100,000 238,100
= 190,480
Al HI 47,620
o el XrH&hdl X & 5,600 12,000 6,400
2 4,480
Al Hl 1,120
301 et A= 5,600 12,000 6,400
2 4,480
Al Hl 1,120
01 Al E&E A 2623 5,600 12,000 AN6,400
OZoR el XHH &t 5,600,000& 5,600
2 4,480
Al HI 1,120
0ol SsEXEH XS 9,880 17,600 NT,720
2 4,940
Al HI 4,940
301 LBt A= 9,880 17,600 NT,720
2 4,940
Al HI 4,940
01 Al E & A 462 9,880 17,600 NT,720
OHMe SsE8H 9,880,000& 9,880
2 4,940
Al HI 4,940
ool MEEXI|FR XA 13,375 13,375 0
= 10,124
24| 3,251
301 et A= 13,375 13,375 0
= 10,124
24l 3,251
01 Al B & A 46 2 13,375 13,375 0
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A SXAS I
Bu: Fo)E N
ool ZojelEx B (B9 ®R)
A - HE B (3A) - HRAY - B Ol &t o San HmEET
OFofel MHaEExRI+7 N 13,375,000& 13,375
= 10,124
I 3,251
Zoperd kel X 718,838 621,670 97,168
= 359,419
AlHI 359,419
301 et a3z 718,838 621,670 97,168
- 359,419
AlHI 359,419
01 MEIBEE 2063 718,838 621,670 97,168
o&oer =Xgxtel X 201,972,000 201,972
= 100,986
AlHI 100,986
OZOMQ HHZR0l X 516,866,000 516,866
= 258,433
Al HI 258,433
ZoHe s XA 5,609,224 5,609,224 0
= 3,953,224
AlHI 1,656,000
307 glz2+0ol & 5,609,224 5,609,224 0
= 3,953,224
AlHI 1,656,000
05 RIZt2E = 5,609,224 5,609,224 0
OFoel s XA 5,520,000, 000& 5,520,000
= 3,864,000
Al 1,656,000
OFHE=S2LE MHlA 89,224,000 89,224
= 89,224
FAH0ls ABEHO2 ==X& 8,000 14,000 A 6,000
AlHI 8,000
301 L2 A= 8,000 14,000 A 6,000
AlHI 8,000
01 MEI2EZE 406z 8,000 14,000 A 6,000
OBAFMNOIS IBLHOIR +2X &
8,000,000& 8,000
AlHI 8,000
ZOHQ BE X (AL 403,218 403,218 0
AlHI 403,218
307 glz2tol & 403,218 403,218 0
AlHI 403,218
05 RIZHRIE 3 403,218 403,218 0
OFoel Atz &8sk 403,218,000& 403,218
Al HI 403,218
RS WEXE 492,642 554,601 ~61,959
= 344,848
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A SXAS I
HE: HUKS K
Sl HUA=X BA (B9 ®R)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
Al'H] 147,794
307 glz2tol & 492,642 554,601 A61,959
2 344,848
AlHI 147,794
05 RIZHRIEt 3 492,642 554,601 A61,959
OZOoOtE MEx=z 492,642,000 492,642
= 344,848
Al 147,794
S 22 dejag IR 12,480 12,480 0
= 8,736
Al 3,744
307 21201 A 12,480 12,480 0
= 8,736
AlH 3,744
05 RIZt2IEt = 12,480 12,480 0
OgEe 22 delaed X3
12,480,000& 12,480
= 8,736
Al 3,744
S dEs:AQ XA 5,400 3,300 2,100
= 3,930
Al 1,470
307 21201 A 5,400 3,300 2,100
= 3,930
AlHI 1,470
11T MISAASEX 5,400 3,300 2,100
oggae da=aAel & 1,500,000 1,500
= 1,200
AlHI 300
OJM=EFA XA 3,900,000& 3,900
= 2,730
Al 1,170
oAz X 6,253,400 5,107,500 1,145,900
= 4,410,000
AlHI 1,843,400
301 LerEa = 6,253,400 5,107,500 1,145,900
= 4,410,000
AlHI 1,843,400
01 MEIBZE 2063 6,253,400 5,107,500 1,145,900
Oz XA 6,253,400,000& 6,253,400
= 4,410,000
AlHI 1,843,400
AL R At 4,800 16,800 A 12,000
= 3,360
Al 1,440
307 21201 A 4,800 16,800 A 12,000
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EX: XA I}
HE: HUKS K
ool ZojelEx B (B9 ®R)
5 - 4
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
= 3,360
Al HI 1,440
05 QIZtR E S 4,800 16,800 A 12,000
(@1uNR=1a=PNE-] 4,800,000& 4,800
= 3,360
Al HI 1,440
ZOHCIDIAE 4 L dFEHAZ2 XS 30,000 30,000 0
301 et A= 30,000 30,000 0
01 M| EXEE 4562 30,000 30,000 0]
OsHtEdH=2 & SN2 30,000,000 30,000
HE &R sS4 K& 10,000 3,000 7,000
= 7,000
Al HI 3,000
301 LBt A= 10,000 3,000 7,000
= 7,000
Al HI 3,000
01 AISIE & A 452 10,000 3,000 7,000
OWHL &S sSHHIE XS 10,000,000 10,000
= 7,000
Al HI 3,000
FAHHE ES 3,058 3,058 0
201 LBt | 2,258 2,258 0
01 AP 22| d| 2,258 2,258 0
OZOHe HX} CIR_AI2 OFLHEH A HIE
15,000 x208 300
OXFOMC XNHsSXHEX H & 800& x11Z %2000 1,760
OFUAAHHE &N 0|2
16,500& x12& 198
203 €2 F=&d| 800 800 0
03 Al ZH =X 2= XIH| 800 800 0
OZOHOIEH L AIESALA 2HE 3
400,000 23| 800
oI X ggel 2 HE A 26,000 26,000 0
Al HI 20,000
24| 6,000
307 QI2t0| ™ 26,000 26,000 0
Al HI 20,000
24l 6,000
10 A SXNANEEHESIGHEX 26,000 26,000 0
Q&I XgeHol 22 & A X
26,000,000 26,000
Al HI 20,000
24| 6,000
o =2XNSE 25 A 10,000 10,000 0
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A SXAS I
Bu: Fo)E N
& Hoe=Ex 58 (&)
SA - BB B () - MM - BES Ol &t o San HmEET
307 glz2tol & 10,000 10,000 0
02 PIZHEHAHEE 10,000 10,000 0
OZM=XNET &5 X 10,000, 000& 10,000
ZOHeI=XAE X3 1,938,764 1,912,940 25,824
= 60,000
AlHI 1,878,764
Zopel=X2 2 X2 967,666 950, 307 17,359
AlHI 967,666
307 glz2+ol & 967,666 950, 307 17,359
AlHI 967,666
05 Rzt E = 967,666 950, 307 17,359
OFeI=Ra 2FXA 967,666,000 967,666
Al 967,666
Zoel =2t BESAE 2N 271,074 280, 109 A9,035
Al HI 271,074
307 212+0| & 271,074 280,109 ~9,035
Al HI 271,074
10 ALSISXAIEEE2GHEX 271,074 280, 109 A9,035
O&oel =2t ESAlE 22X
271,074,000& 271,074
Al HI 271,074
FHUSSHEIE 2EXA 365,412 350,912 14,500
AlHI 365,412
307 21201 A 365,412 350,912 14,500
AlHI 365,412
10 ALSISEXAIEEE2GHEX 365,412 350,912 14,500
O EIE 2L XA 365,412,000& 365,412
Al 365,412
ALGHT Zofel=X2 228 29 42,100 42,100 0
Al 42,100
307 21240 & 42,100 42,100 0
Al t] 42,100
05 RIZt2IEt = 42,100 42,100 0
OAtot= Zofel=X2 2= 249
42,100,000& 42,100
Al 42,100
o =EX2 FE30s W 1,000 0 1,000
AlHI 1,000
307 21201 A 1,000 0 1,000
Al HI 1,000
05 RIZt2IEt = 1,000 0 1,000
O&Mel=X& 8L23J/s e 1,000,000 1,000
AlHI 1,000
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A SXAS I
I FHoNE X
S HHA=SXAE X (&)
SA - BB B () - MM - BES Ol &t o San HmEET
SSHMHY XEgdadH XA 150,000 150,000 0
= 60,000
AlHI 90,000
307 gl2tol & 150,000 150,000 0
= 60,000
Al 90,000
10 AL SXNAIEEE2EH EX 150,000 150,000 0
OZZZH XgMedy XA
150,000, 000& 150,000
= 60,000
AlHI 90,000
ZFeols=ExE 29 NE 40,000 40,000 0
AlH 40,000
307 21201 A 40,000 40,000 0
Al HI 40,000
05 BIZHRI & 3 40,000 40,000 0
OFMelols==xeg 29 40,000,000& 40,000
AlHI 40,000
ZOHQ EXD|7 seldH 29 91,512 91,512 0
AlHI 91,512
307 glz2tol & 91,512 91,512 0
AlHI 91,512
05 RIZHRIE 3 91,512 91,512 0
OFHMAEERIIFR eIy 2|
91,512,000& 91,512
AlHI 91,512
NEMetdEy AN HEEHZ XA 10,000 8,000 2,000
AlHI 10,000
301 gEtE L= 10,000 8,000 2,000
AlHI 10,000
01 MI2EZE 06z 10,000 8,000 2,000
OXNGHEHH S0 NEFEHS N
10,000, 000& 10,000
AlHI 10,000
Setolg+8 X& 5,480 5,480 0
= 5,000
T Hl 480
S0 FXHAY 28 5,480 5,480 0
= 5,000
T Hl 480
201 Let249] 4,500 4,000 500
= 4,500
01 At 22l 4,500 4,000 500
SE0IE0 XNYgE9s 22 4,500,000 4,500
= 4,500
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A SXAS I
HE: oS X
el =s0IZE0 NN (B9 ®R)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
203 YR =&l 980 1,480 A 500
= 500
T Hl 480
03 AIHF=XH R Z=AH| 980 1,480 A 500
O=801250 MRS ALEX
500,000& 500
= 500
O=ssolg=0 g2=2 480,000& 480
g2 & JIHEXNA 64,016,691 65,005,524 A 088,833
= 35,630,624
J| 280,006
AlHI 23,853,102
I 4,252,959
Hg=Xx 2,796,478 3,153,112 A 356,634
= 1,152,707
J| 280,006
AlHI 1,160,730
L Hl 203,035
AL INEXNHH 29 171,060 167,300 3,760
= 85,530
AlHI 42,765
L Hl 42,765
307 glz2tol & 171,060 167,300 3,760
= 85,530
AlHI 42,765
L Hl 42,765
05 RIZtIE = 171,060 167,300 3,760
OHZIEXNJEH 2 N&  171,060,000& 171,060
= 85,530
Al 42,765
- Hl 42,765
rsdz2s XA 140,000 429,000 289,000
= 70,000
Al 70,000
307 21201 A 140,000 429,000 289,000
= 70,000
Al 70,000
05 BIZERIE 3 140,000 429,000 289,000
oxsgdz2ds XA 140,000, 000& 140,000
= 70,000
AlHI 70,000
ots2=s K& 1,367,000 1,390, 100 A23,100
= 956,900
AlHI 410,100
307 glz2tol & 1,367,000 1,390, 100 A 23,100
= 956,900
AlHI 410,100




A SXAS I
BE: 28 9 HHNL
el HgsX (&)
SA - BB B () - MM - BES Ol &t o San HmEET
05 RIZHRI & 3 1,367,000 1,390, 100 A 23,100
ootolEs=201 XA 1,327,000, 000& 1,327,000
= 928,900
Al 398,100
O3s=s0tl=sH XA 40,000,000& 40,000
= 28,000
AlHI 12,000
NHEEH - 4=ZHLR L ToHA X2 70,045 68,005 2,040
= 35,022
AlHI 35,023
307 gl2tol & 70,045 68,005 2,040
= 35,022
Al 35,023
11 ALS S RAEE = 70,045 68,005 2,040
OAtst DHE =884 29 X
70,045,000 70,045
= 35,022
AlHI 35,023
ABH PR ESAGA SAL X2 (AH) 5,400 5,400 0
AlH 5,400
307 21201 A 5,400 5,400 0
Al 5,400
11 ALS S XAEE = 5,400 5,400 0
OAtol H3 =2 4EAs 29 5,400,000& 5,400
AlHI 5,400
E 46X 2 2 (AlY]) 427,000 550,000 A 123,000
AlHI 427,000
301 L2 A= 427,000 550,000 A 123,000
AlHI 427,000
01 MEIEBEZE+05l= 427,000 550,000 A 123,000
OZSAXIAZ (AL 427,000,000 427,000
Al 427,000
ERAPNEE = 100,000 75,000 25,000
301 et a3z 100,000 75,000 25,000
01 MEIBEE 263 100,000 75,000 25,000
O X& 3 100,000, 000& 100,000
OtstdEs NFAl 24 7,200 7,200 0
= 3,600
Al 3,600
201 Let24dH] 7,200 7,200 0
= 3,600
Al 3,600
01 At 22l 7,200 7,200 0
O0ts - H&2s NG 29 7,200,000& 7,200
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A SXAS I
Hu: 88 U RIS
el ot e =X CEEEED
SA - FE - BI(EA) - NRAY - By 0l &t San DS
= 3,600
AlH 3,600
OISHEES XSl 2% 243 3,310 4,869 A 1,559
= 1,655
Al 1,655
201 L2 | 3.310 4,869 A 1,559
=2 1,655
AlHI 1,655
01 AF2 22l bl 3,310 4,869 A1,559
O0ts - HEES NGl 2H&E 435t
3,310,000& 3,310
= 1,655
Al 1,655
Ct2shots X& 445,193 439,668 5,525
J| 280,006
Al 165,187
307 glz2tol & 445,193 439,668 5,525
J| 280,006
AlHI 165,187
05 RIZtRE = 445,193 439,668 5,525
OU=aINEXNEEH 2 XN
158, 144,000& 168,144
J| 79,072
Al 79,072
OYEu= 149,100, 000& 149,100
J| 104,370
Al 44,730
OUZatIts MEX T A 20,000,000& 20,000
J| 14,000
Al 6,000
OZE0l2X HEH 3,000,000 3,000
J| 2,100
Al 900
OolEeo eadxd 16,643,000& 16,643
J| 11,650
Al 4,993
ogugg XA 58,912,000& 58,912
J| 41,239
Al 17,673
Os - B ANElA 17,232,000& 17,232
J| 12,062
Al 5,170
Ost=0ns 29 & 22,162,000 22,162
J| 15,513
Al 6,649
=X & 3,570 3,570 0
201 Let24E] 1,110 1,110 0
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A SXAS I
Hu: 88 U RIS
ol BRQ JlE =X =3 (B9 ®R)
SA - FE - BI(EA) - NRAY - By 0l &t San DS
= 632,696
AlH 861,453
ZUESAE A=W N 125,942 120,111 5,831
= 113,348
Al 12,594
301 et d s 125,942 120,111 5,831
= 113,348
Al 12,594
01 MEI2EZE+05l= 125,942 120,111 5,831
ORAESAE A=A 125,942,000& 125,942
= 113,348
Al 12,594
UESANE 29 275,729 275,729 0
AlH 275,729
307 glztol & 275,729 275,729 0
Al 275,729
10 A SXAEHE2SEHIEX 275,729 275,729 0
OAIZSALAL 1248l XI& 196,382, 000& 196,382
Al 196,382
Oozelzdg 67,347,000 67,347
Al 67,347
OXE=XN=E 12,000,000& 12,000
AlHI 12,000
SXUESAE 840 HEHEFZ NS 40,000 54,000 A 14,000
AlHI 40,000
301 et A3z 40,000 54,000 A 14,000
Al 40,000
01 AR 2Z A 53 40,000 54,000 A 14,000
OZXNESAE 84Xt HEZEz AA
40,000,000& 40,000
AlHI 40,000
SHRI2IIE SXAE X 9,740 9,740 0
= 4,870
Al 4,870
307 glztol & 9,740 9,740 0
= 4,870
Al 4,870
11T MISRASEEX 9,740 9,740 0
OYai &gz XA 9,740,000& 9,740
= 4,870
Al 4,870
StREEIIE SXAE HEE208 X3 2,460 2,300 160
Al 2,460
307 QI2+0| & 2,460 2,300 160
AlHI 2,460
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2N
X ZH -
L= B

el

SA - BB B () - MM - BES Ol &t o San HmEET
11T M SRASE EX 2,460 2,300 160
OBERIE =SXNAL HFZ2IY N
2,460,000 2,460
AlHI 2,460
StREEIIEANE &d=H s N2 620,000 421,000 199,000
= 496,000
AlHI 124,000
301 gt d= 620,000 421,000 199,000
= 496,000
Al 124,000
01 MEI2EZE+06l= 620,000 421,000 199,000
OsR2Its UH ¢4l S XN
620,000,000 620,000
= 496,000
AlHI 124,000
SRRt td X & 396,000 378,000 18,000
AlHI 396,000
301 gt d= 396,000 378,000 18,000
AlH 396,000
01 MI2EZE 6= 396,000 378,000 18,000
Os1d weEH| 262,000, 000& 262,000
AlHI 262,000
Oxzssd stE3 16,000, 000& 16,000
Al 16,000
Ost2ZIIE MHE(LSEM) nEHl X
118,000, 000& 118,000
AlHI 118,000
SRINE =X 1,180 1,400 ~220
Al 1,180
301 et a3z 1,180 1,400 A 220
Al HI 1,180
01 MI28E+06l= 1,180 1,400 A 220
SAE =AHNE 1,180,000& 1,180
AlHI 1,180
Fad RE2 LE X 23,098 18,700 4,398
= 18,478
AlHI 4,620
301 gt 4= 23,008 18,700 4,398
= 18,478
AlHI 4,620
01 MEI2EZE 5= 23,098 18,700 4,398
OodA4d s22 gy X 23,098,000& 23,098
= 18,478
AlHI 4,620
g R0 4|8t =4 59,726,064 60,553,284 A 827,220
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A SXAS I
Hu: 88 U RIS
el o - R0F RADIY X4 (el @2)
SA - BB B () - MM - BES Ol &t o San HmEET
= 33,845,221
AlHI 21,830,919
T Hl 4,049,924
2l old SALA el H| 6,679,269 6,358,369 320,900
= 4,007,564
AlHI 1,870,195
T Hl 801,510
307 glz2tol & 6,679,269 6,358,369 320,900
= 4,007,564
AlHI 1,870,195
T Hl 801,510
10 AL SXAIEEE2EHEX 6,679,269 6,358,369 320,900
OOUEl0l& AR o248 XI&
6,679,269,000& 6,679,269
= 4,007,564
AlHI 1,870,195
L Hl 801,510
MpN eS| 85,760 77,337 8,423
= 51,458
AlHI 24,014
T Hl 10,288
307 glz2tol & 85,760 77,337 8,423
= 51,458
AlHI 24,014
T Hl 10,288
10 ALl SXAIEEE 2 H EX 85,760 77,337 8,423
OQIZFM & 0l&d bl XI& 85,760,000& 85,760
= 51,458
Al Hl 24,014
Tl 10,288
A2 2,400 2,400 0
= 1,440
AlHI 672
I 288
307 21201 A 2,400 2,400 0
i 1,440
Al HI 672
1 Hl 288
10 ALSISXAIEEE2GHEX 2,400 2,400 0
oogold xeE2gdl XA 2,400,000 2,400
- 1,440
Al 672
T Hl 288
FrotEsE N& 26,096,000 30, 164,631 A 4,068,631
= 19,572,000
AlHI 4,566,800
- Hl 1,957,200
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SN SRAY D
3 8258 L JIEXE
oelr @ R0 FAI £4 CER-ED
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %E& HRE2
301 Bt A= 26,096,000 30, 164,631 N4 ,068,631
=2 19,572,000
Al HI 4,566,800
T 1,957,200
01 Al E & X 462 26,096,000 30, 164,631 AN 4,068,631
oOgsotEesz NH 26,096,000,000& 26,096,000
=2 19,572,000
Al Hl 4,566,800
24| 1,957,200
HEMAES JUEs2 XA 31,000 0 31,000
Al HI 31,000
301 et A= 31,000 0 31,000
Al HI 31,000
01 Al B & A 46 2 31,000 0 31,000
OBHEANASSES M2z A& 31,000,000 31,000
Al HI 31,000
Sy X 11,067,200 8,343,240 2,723,960
Al HI 11,067,200
301 YptE A 11,067,200 8,343,240 2,723,960
Al HI 11,067,200
01 Al E& A 252 11,067,200 8,343,240 2,723,960
OxcltE 252 K& 11,067,200, 000 11,067,200
Al HI 11,067,200
HIZOHOH 23 252 X 17,015 17,015 0
Al HI 14,973
T 2,042
301 Bt A= 17,015 17,015 0
Al HI 14,973
T 2,042
01 Al E & A 452 17,015 17,015 0
OdIEOor gutEs EgE XA 17,015,000 17,015
Al HI 14,973
24| 2,042
AN2AXSYE 21 K& 39,036 0 39,036
= 19,518
Al HI 9,759
24| 9,759
301 Lpte &3 39,036 0 39,036
=2 19,518
Al HI 9,759
24| 9,759
01 Al B & X 262 39,036 0 39,036
OANZXEE B X&E 39,036,000 39,036
= 19,518
Al HI 9,759
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EX: XA I}
Ha: 28 2 JFAL
oelr @ R0 FAI £4 CER-ED
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
| - HI 9,759
el old 0loIsots ¥ XS 11,733,333 12,419,938 A\ 686,605
= 8,800,000
Al HI 2,053,333
T 880,000
301 Bt A= 11,733,333 12,419,938 A\ 686,605
= 8,800,000
Al HI 2,053,333
T 880,000
01 Al E & A 452 11,733,333 12,419,938 A\ 686,605
O0lglold DloIsots =X
11,733,333,000& 11,733,333
= 8,800,000
Al HI 2,053,333
I 880,000
el old #&sts & 23 A 95,518 75,600 19,918
Al HI 95,518
307 2Iz2t0| & 95,518 75,600 19,918
Al HI 95,518
11 A EXAIEEX 95,518 75,600 19,918
OO0l s&sts L 23HE A
95,518,000 95,518
Al HI 95,518
HEXNE Helold DM X 32,718 30,000 2,718
Al HI 32,718
307 212t0| & 32,718 30,000 2,718
Al HI 32,718
10 AISIEXAIEEHE2IHIEX 32,718 30,000 2,718
OFEXNE Helold M+ XN
32,718,000 32,718
Al HI 32,718
HEXE Helold xged N 11,600 11,500 100
Al HI 11,600
307 QI2t0| ™ 11,600 11,500 100
Al HI 11,600
10 A SEXNANEEHESIH EX 11,600 11,500 100
OF2XNE Helold eE2d XN
11,600,000& 11,600
Al Hl 11,600
012 JIEOEOIE SAK 22X X 1,187,000 850,000 337,000
Al Hl 1,187,000
307 QI2t0| & 1,187,000 850,000 337,000
Al HI 1,187,000
10 A SXAANEEESIHEX 1,187,000 850,000 337,000
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EX: XA I}
Hu: 88 U RIS
e g - R0 4|8t =4 (2 &HH)
SN EHD B (3H) - MEAY - BAS Ol &F 04 ﬁlgﬁ HDZ2
0ol JIH020ld AN SN+E A d
1,187,000,000& 1,187,000
Al HI 1,187,000
HII IS HEl ol SAIAF A& 198,000 174,000 24,000
Al HI 198,000
307 2Iz2t0| & 198,000 174,000 24,000
Al HI 198,000
10 M SXAAEEHESIGHEX 198,000 174,000 24,000
OBJI MOZ GR0IE SIWA H74g
198,000,000 198,000
Al HI 198,000
2328 Helold X 606,048 411,600 194,448
= 363,629
Al HI 169,693
Tl 72,726
307 212t0| & 606,048 411,600 194,448
= 363,629
Al HI 169,693
Tyl 72,726
11 A EXAIEEX 606,048 411,600 194,448
OZ228 elold XN 606,048,000 606,048
= 363,629
Al HI 169,693
24| 72,726
WA 22&83H s X 1,709,144 1,474,757 234,387
= 1,025,488
Al HI 478,560
24l 205,096
307 2izto| A 1,709,144 1,474,757 234,387
= 1,025,488
Al HI 478,560
I 205,096
10 MM SAANEEHESIGHEX 1,709,144 1,474,757 234,387
OUA 22838 s X3 1,709,144 ,000& 1,709, 144
= 1,025,488
Al 478,560
Tl 205,096
OF2t0igl ol 2elA2 HdlA X 900 928 A28
Al HI 900
307 QI2t0| & 900 928 A28
Al HI 900
11 A EXAIEEX 900 928 A28
QOot2toielold ZelA= NMHlAa XIS
900,000& 900
Al HI 900
ZHFHGYOROIT SRDAN Saay 17,000 17,100 A100
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A SXAS I
E: 28 9 HHNL
&??: & - R0 I8 =4 (&)
SA - BB B () - MM - BES Ol &t o San HmEET
Al'H] 17,000
307 glz2tol & 17,000 17,100 A 100
AlHI 17,000
10 MSIZRALHE 22U B 17,000 17,100 A 100
OFMWALORI0Y SRDA S+og
17,000, 000& 17,000
AlHI 17,000
OHOIAY RR2UEHYS 29 8,248 7,991 257
= 4,124
AlHI 1,984
T Hl 2,140
301 LEtE A= 8,248 7,991 257
= 4,124
AlHI 1,984
T Hl 2,140
09 HALAHIEA S 8,248 7,991 257
OO0t0IAIE 22 2LIHY &sX&
8,248,000 8,248
- 4,124
AlHI 1,984
L Hl 2,140
oelord Xia 108,875 108,875 0
201 £B-2%H| 19,000 19,000 0
01 At 22l 19,000 19,000 0
OAgus Mg S 2,500,000& 2,500
OfXM Heloldy 2= dxt 16,500
ZEEt 750,000& »23] 1,500
2 Xt 1,500,000& 102 15,000
203 YR =] 800 800 0
EEEEEST 800 800 0
OBSYR ALEX 800,000 800
307 glz2tol & 89,075 89,075 0
11 MBI = XIAN 2 89,075 89,075 0
O02I0I& S82 A%DS XY 1,000,000 1,000
Ooeold HAgsl AL X& 2,000,000& 2,000
Ongold =Hdl X 82,875
- 1008 0l &f 525,000 2004 2 10,500
- 50 ~ 994 450,000 *4004 2 18,000
- 21 ~ 499 375,000 *65H 2~ 24,375
- 20% Olat 300,000 10094 2 30,000
OZXots HEold A3 XA
100,000& = 12& 1,200
O&Y, Us0eold sa2eE8 2| 2
Hl X & 1,000,000 *2H 2~ 2,000
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